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1 Code in Cellset

esProc is a programming tool coding in the cellset. Every statement is contained in a cell,
which is similar to Excel.

i | " "
et o o B[ a3 EEY &
B 5 Value ||:
1 S/ 144
= 5|!Data View section) |-
2 |ragral e e
=arg¥are Cellsetvariable I’Glnbaluariable [Datasnurce |
4 Mo Mame Walue
I m - I_v : 1 _larg . 12
Program cellset window ||Variable section |

On the left is the Program Cellset window, the active program cellset you are operating on is
shown here; The top right area is the Data View section and the bottom right area is the Variable
section.

The esProc expression follows the Java conventions to the utmost, such as % for modulus, ==
and != for equaling and not equaling, the double quotation marks are required to enclose the
strings, the \ is used as the conversion marks, and the &&, ||, and ! are logic operator of AND, OR,
and NOT.

Depending on the code in the cells, the cell may be in various colors.

B B C
1 5 esPron 013-11-5
2 ‘TMiletdf
3 =h41*7 =mterval{"'] now ()
4 =arz]=4 ICorarnent Info

The pink indicates the text is of constant type, the black indicates the text is executable code,
and the green indicates the text is comments.

If the cell contains value after computing, then the background color will turn to light yellow.
You can check the cell value in the Data View section.

In esProc, if any value is in the cell, then you can use the Cell Name directly as the variable
name to call the cell value. This is similar to the Excel.

You can also use the named variable. The variable of this type is called Cellset Variable. You
can check the cellset variable in the Cellset Variable section.

In the cellset file, you can define the Cellset Parameter by clicking the Program ->
Parameter menu item. This can be defined in the Cellset Parameter window.
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P =

Program parameter @
[ ]5etarguments before run 0K
Mo. . Mame Value Remark Cancel
1 |Pi 3.1416
Add
Delete
Up
Down
| & fin the cellset, use the parameter Value
1 |=Pi*4 —1 name to call the parameter in cells.t= 42 5654
Please note this is case sensitive.

When setting the cellset parameters, you can also check options and set parameters before
computing. Please note that the names of parameter and variable are case sensitive in esProc.

2 Introduction to Sequence and TSeq

Sequence is an ordered set consisting of some data, and the constitutive data of a sequence is
called Member. Sequence is equivalent to the array in the high level language. The difference is
that the member of sequence does not have to be of the same type. The sequence is the most
common unit in esProc.

Some members enclosed in a [] forms a constant sequence. The sequence can be defined in an
expression in a format similar to the constant sequence, and the cell can be used in an expression.

If no member exists in sequence, then you can use [] to define the empty sequence.

s | = | ¢ |
1 [1.5.6,test] Result of the expression in
2 1 56 test A3 is a sequence, same as
3 =[A2,B2,CZ] >{that in A1.

The cell values of A1 and A3 can be viewed in the Data View section.
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Member
1
5.6

test

esProc inherits the data table concept of relational database, and defines it as Table Sequence
or TSeq for short. Consistent with the concept of rational database, in esProc, every Table
Sequence also has its own Data Structure, which consists of several Fields. The member of table
sequence is also called as Record. TSeq is a sequence whose members are all records.
TSeq can be retrieved from database or converted from the data of text file. When using the
data of text file, you can separate the data of the same row with Tab.

| L Import the data D Ngme GendeqAge
1 |=f'1]ﬂ|{"D:.ff'ﬂﬂsit:-:tistudﬂnts.txt"} in the text file as| L™ |F 17
o 2 |Elizabeth |F 17
2 f=ilinpon@t) —HTSeq and the 1st
is the titl 6 [Zachary |M 19
row is the title
8 [Megan |F 16

Sequence consisting of records from table sequence is called Record Sequence or RSeq for
short. The members of record sequence are not definitely from a same table sequence. The record
sequence whose members are from a same table sequence is called as Pure Record Sequence.

3 Introduction to ISeq

The sequence making up of integers is Integer Sequence or 1Seq for short. When defining
the 1Seq, you can also use the [] to enclose the member for defining the 1Seq or use the expression
to define it.

Member i Member
1 5
5l — [1,2,5,4,5] ;
3 2 [5,3,-1,2.0] > =
4 3 =[10,3*4 5.2 &1 len()]

5
Generate 1Seq with the expression in which Member
the A1.len() is the length of sequence in A1 10
N 12
3
5

In esProc, to() function is often used to define an 1Seq of continuous increase or decrease.

Member Member
&

.1

1 =tof5,%) 2
2 =tal4) 3
4

5
G
7
8
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4 Use Sequence to Compute

In esProc, not only the 1Seq is a sequence, but also the TSeq and RSeq are all sequence. The
sequence computation is the basic computation of esProc.

As a type of set, sequence can be used for common operations with the |, \, #, &, and other

operators. You can compute the concatenate, subtraction, intersection, and union of two

sequences:
Member Member
5 L | B | 5
3 e 1 (534 B33 Concatenate | :
3 Union =hlBl —m
b E | Member
3 Y<41&BI - 5
b
=L1B1
Multiple B1 \I ComplementJ Member Member
=B1*2 —_—
by 2 e a 1
T = —_ ] -
o A Multiple [1] by 4 |
——— 1
1

The member in a sequence is ordered. We can not only get or set the value of a specified
member according to the member location, but also get the location of specified members:

Yalue o - Yalue
7 |~{ Get the 3 m|ember [1,3,7.ml2.3] | R'\Ttu\::hﬂ:e Itﬁca;'?n AT 3
=410 ° Ioiaetede | [temper
VA Get m(). function. :;M_m(_g;. —— 2
5|« The serial number f s 1 pos(7) Return all positions T o

can be negative. Get| = -1 nos@ai3) — where 3 appears Value
|the second to the last =Alpostd)  ——]Cannot find 4, andl>= 0

member N return 0

The sequence composed of the members of another sequence is called the Subset of the latter
sequence, which is similar to the definition of this Subset. In esProc, you can take the ISeq as the
location-indicating serial number to generate a subsequence of this sequence.
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Member | X The negative integer is Member
1 e Generate 1,27 2% | |allowed to exist in the 1

|| - - - ay
; subsequence [ _|_x (1.3 ISeq, indicating the last 2
7

5 =1 i[1,-23]) A but the No. n member.

Member _ Member

F=i1 rval) v
3 — . 1
5 Reverse sequence =41 .dup() \I Duplicate the 3

n

sequence Wy -

To reverse or duplicate sequence can be

regarded as to create subsequence

In the sequence, you can perform various converge operations:
Value - Valne
16 | > 5
S r 1 [1,3.7 null 2 7] Count the
Value ummation 3 —&1 comtfy | "ON-null member Member
~— T . 5
32 - 3\_:31 s
Average I.‘ : 2
Value : 4 t=tlav) .
7 <1 Maximum " g . ;
- Rank the
Value i =41 ) sequence 4
- “I inimum I ] bl A aq 5

5 Retrieve TSeq from Database

To retrieve TSeq from database, you will have to connect with the relational database in the

Dataso
1)
2)
3)
4)

urce Manager of esProc:
Click the Tool -> Datasource connection menu item, open the Datasource Manager.
Create a new datasource, and select the type.
Edit the datasource connection parameters and name the datasource.
Connect, and the Datasource Manager will display if connected successfully. Multiple
databases can be connected at the same time in the Datasource Manager.

In esProc, you can connect the HSQL database demo for testing.

After the connections to the database are established successfully in the data source manager,
you can simply use the datasource name in the cellset to access them directly.

For example, you can retrieve the data composition TSeq from the database with the SQL

statement.
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IO MAME |[SGEMDERAGE] =
1| Emily F 17 |[=
2 |Elizabeth |F 16
| 3| Sean I 17
A 4 Lauren |F 15
=derno.guery "select * from - |
1 STUDENTS") Bl Mirhasl K 1A
=deran query "select * from IO MAME |GEMDER|AGE
E STUDEMTS where &GE=7"17 1 | Emily F 17
3| Sean I 17

6 Collect Statistics on TSeq

To collect statistics based on the data from database, we often perform the count, sum, min
value computations, and other operations on the database record. In esProc, you can perform
various converge computation in the TSeq, such as count, sum, avg, max, and min.

The cellset variable cState is a TSeq for storing information of various states. You can

complete several converge computations like count and sum with the count(), sum(), and other
functions.

cState Ex o
STATEIC| MAME |POPULATIOMABBR] AREA | CAPITAL REGIDNIE‘:
1 |Alabama 4779736 | AL 52419 | Montgome &=
2 |Alaska T10231 | AK BE3Z67 | Juneau 9
3 [Arizona B392017 |AZ 113998 | Phoenix a
4 [Arkansas 2915918 | AR 52897 | Little Rock 7
5 |California] 37253956 | CA 163700 | Sacramen 9j-
& | Value
! =estate=derno ouery 7 51
("select * from STATES") Total the record -l
a =c5tate count() — Value
=cState sur Sum to compute total population 308745538
3 |{POPULATION) m
4 =round{cState avg Compute average population of Value
HHCLT UL DI a state, round to single digit. 6053834.0
5 =patate prax —_— ]
(POPULATION/AZ) T Compute the max makeup Value
6 [=eState rinCAPITALY of state population 120662330
2 =c5tate rank —,—
':Powﬂ@m Member || 4Compute the 1%on the ordered
State ranked by 23 | Fname list of state capital
- NG A7
the respective b \_\ Value
32| | Albany
4 -
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7 Locate and Filter the Record in TSeq

When analyzing the data in the TSeq, you will usually need to search for the records
satisfying the conditions according to the requirements. In esProc, if there is a value in a cell, then
the value of this cell can be referenced with the cell name.

A =3 &
STATE |ABBR| CAPITAL |POPULATIOM) =]
Alabama |AL | Montgomery 4779736 || =
Alaska AKD | Juneau 710221
A | 1r-'!xrimna AZ | Phoenix 6392017
=demmn queryy "select HAME as / Arkansas | AR [Little Rock 2915918
1 =TATE, ABBE.CAFPITAL, CalifammialCh lSocramento| 37253956 ||«
POPULATION frora STATES") | |No. of the 1% state Value
2 =41 paelect(left{STATE 1i=="H" \whose initial is N = 27 Member 5
3 ;‘?}1 'pSEIECt@a(hﬂ{STP‘TE’1:'==lINo. of all states whose initials are N | 5= z; H
4 =41 proa POPULATION) No. of state with the Value 50
5 =1 proin(POPULA TION) reatest population | T 5 30| |
& =105 No. of state with the Value 24 1™
~IRecord of the 5" lleast population | L 90
State [T STATE |ABBR| CAPITAL |POPULATION
California| CA  [Sacramento| 37253056

In esProc, you can either directly select the record from the TSeq according to its position, or
compute the position of records satisfying the conditions with the pselect() function, or specify the
position of the max or min record as a result of a specified expression with the pmax(), pmin(), and

other functions.

L | STATE |ABBR CAPITAL [POPLULATION
=deran cuersy "select Alabama |AL  |Montgomery 4779736
y |NAMEasSTATE ABBE, [o | o) Alaska |AK |Juneau 710221
CAPITALPOPULATION - -
from STATES") states whose | [Arizona  |AZ  |Fhoenix 6392017
5 iil;f}lectﬂef’t(STﬁTE,l initial is A Arkanzas| AR | Little Rock 2915918
=1 selectii]
| et e s [ STTE SO P Jorinn
4 [N, W] hose population
—i1 select is over 6000000 | STATE [ABBR CAPITAL [POPULATION|
5 (POPULATION=600 rlassachuse MA |Boston 6547629 || =
&%MLPWTATE’I” Michigan Ml [Lansing 9383640
Select state with over 6000000 Mew Jersey |NJ |Trenton 8791894
population and initial M, N, or W [Thew York |NY | Albany 19378102
Morth Carolin ME | Raleigh 9535483 || =

In the TSeq, you can use select() function to filter the data and pick out the record satisfying
the specified conditions. After filtering, an RSeq composed of the corresponding records will be

8
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In esProc, to generate a new TSeq, you can choose the desired column to compute based on
the data from TSeq or RSeq.

With the new() function, you can select the necessary information from TSeq or RSeq to form
a new TSeq.

EID MAME GEMDER | BIRTHDAY || =
1|Rebecca |F 1974-11-20 || =
- 2 [Ashley F 1980-07-19
—demo.query] "select EID M AME, 3 [Rachel F 19701217
1 GEWMDER BIETHDATY from 4 [Emily F 1985-03-07
?fleuﬁidE_EN . 5|Ashley  [F 19750513 || =
5 (GENrE =="M';,"Ma$"," Retrieve the name and gender data to
Female"}:Cender) \create a TSeq. The NAME field is named
=1 new(EID, HAME, interval @y o
3 (BIETHDAY now()):hat) after EName, and the abbreviation will not

be used for the gender.
Retrieve the employee No, and name.
Compute the age of each employee, and

then create the TSeq.
Of A2 and A3 the results are as follows:

EMame Gender | - | EID MNAME Age | - |
Rebecca Female = 1 |Rebecca 39 |[(Z=
Ashley Female 2 |Ashley 33
Rachel Female 3 |Rachel 43
Emily Female 4 [Emily 23
Ashley Female - 5 [Azhley 33|~

In esProc, you can choose to add the computed column directly to the TSeq. The value in the

computed column can be computed based on the data from other columns of TSeq. With derive()
function, the computed column can be added for the TSeq.

&

=derno.cueryt "select EID MANE,
1 GEHNDER BIRTHDAY from
EMPLOYEE") Add the Age field for the TSeq, and the
5 |7l dervelinterval@y

(BIRTHDAY nowi})-buae) ——>-age can be derived from BIRTHDAY

After using derive() function to add the computed column, the existing TSeq is changed. As
you can see in A1, the TSeq has been changed:
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EID| NAME |GENDER| BIRTHDAY |agel =
1|Rebecca |F 1974-11-20 |39 | =
2 [ Ashley F 1980-07-19 (33
3|Rachel |F 1970-12-17 (42
4 | Emily F 1985-03-07 |28
5 [Ashley F 19750513 (38 || =

8 Reference and Sort on Record in TSeq

Since the field of record has no data type requirement, you can assign any value. To assign
the value to another record, you can conveniently implement the foreign key reference.

B
=derno.gquery "select * from
I |EMPLOYEE™
=dermno.guery "select MAME as .
7 STATE APBR CAPITAL, Add Statelnfo field to TSeq, and the
Pifgjﬁ?ﬁ; frlzmé}"*ﬁ*ms":' field value is the corresponding records
=51 dermve select —
3 |(STATE==415TATE Statelrfo) in the TSeq A2

After executing the derive command, in the TSeq of EMPLOYEE, the value of Statelnfo field
is the record of TSeq of A2 on which you can double click to view the Statelnfo field:
EIDN MAME [SURMAMEGEMNDER| STATE |BIRTHDAY| HIREDATE | DEFT S.&L&R‘r’ﬂtatelnfcﬂ:
1| Rebecca Moore F Californ| 187 4-11-2( 2005-03-11| R&D 7000 Califnrn"f
2 [Ashley |Wilson Mew Yol 1980-07-14 2008-03-16| Finang 11000 New‘r’n"
3 |Rachel |Johnson Mew Me 1970-12-172010-12-01| Sales| 9000 |Mew Me"
4 | Emily Smith Texas |[1985-03-072006-08-15 HR ?UUEZL;e as
5| Ashley |Smith Texas | 1975-05-1]12004-07-30{R&D | 4500 | Tekls

STATE |ABBR|CAPITAL | POPULATION
Texas TX | Austin 25145561

-

M| M| | m

In the TSeq or RSeq, you can sort the record according to the specified conditions. With the
sort() function, you can re-sort the records in the TSeq, and return the RSeq after sorting.

A |
=derno.gquers "select * from
1 EMPLCOYEE"). dertved interval@y
(BIRTHD&Y now()) Aage) /
2 =41 s0t(STATE)

i1 sort{fge:-1) /

4 |=Alsortfee-1 NAME) -7

Sort the records by STATE ascendingly

Sort the records by Age descendingly

Sort the records by Age descendingly. Then sort
those of the same age by NAME ascendingly

9 Grouping Record in TSeq

To collect statistics and analyze data often requires grouping the records of a TSeq or RSeq
according to certain conditions.

10
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The commonest group is the Equal Group. Distribute the records from a TSeq or RSeq to
several groups according to the same field or expression.

With group() function, you can specify one or more conditions to group the values from TSeq
or RSeq.

A |
=derno.queryt "select * fiom
I | EMPLOYEE"
7 =41 goup(STATE) -> Group EMPLOYEE records by its STATE

5 =41 group(STATE,GENDER»>Group EMPLOYEE records by its STATE and GENDER

The group() function for the TSeq or RSeq is similar to the operation of group by in SQL. A
sequence composed of multiple groups will be returned. By default, when using group() function,
the record will be sorted before grouping according to the results of group expression.

In esProc, you can proceed with the group and summarization computation based on the
grouping result.

= State Count =
i =dﬁmn.quezj.nlil"sele-:t*f'mm Alabama nE
TIPLD?ESET}ETE Create aTSeq. | [nio— ;
2 |=Algop ) Return the total | [prkansas .
3 |=Algroup(STATE,GENDER] lemployee amount” <5 jormia =
=04 new~ 5 DA TE btate - of each state -
4 count!)Count ) q— 22~ | [Colorado i
=43 new(~ STATE:State,~.  |[Create a TSeq. State Gender| Count |||
5 JOENDER Gender,~.count(): J|Return respective| |Alabama  |F ) =
ICDunt]l
total male and Alabama I 9
female employee [\£11Z0N3 F 7
amount of each | |#1Z0na M 2
state Arkansas M 1] -

This differs with that of SQL greatly. SQL does not provide the explicitly data type of sets
and the group results cannot be saved either. The SQL users have to group and summarize
immediately after the group by action, and then the group result will be dropped, not allowing for
any reuse.

Summarize after grouping and you can use groups() function to represent it briefly.

= | STATE |GENDER|Count| =
Alabama |F ] =
=derno.querst "select * from
1 EI"."IPI_DYEE"} Alabama [M 1
5 =1 .gmups{STHTE,GENDER;c@/ﬁmnE F 7
) i) Arizona__| I 2
After grouping the employees’ data by STATE and GENDER, create a TSeq of 1=

total female and male employee amount of each state. This is similar to the
result of A5 in above example.

In esProc, the record in the TSeq can be grouped in a rather complicated way.
If you need to perform the equal group on the records in the TSeq or sequence in a specified

11
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order, then the align group will be frequently used. With align() function, you can conveniently
implement the align group.
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"— Group the records
=derno.query "select * from . Member
1 EMPLOVEE") in the order of New > 21215, ]
2 [Mew Vork Texas Califormis]  |York, Texas, and 459, ]
=41 align@al 42 STATE) California | A1168, .
|Doub|e click to view records in the group
yy 4
EID| NAME |SURNAMEGENDERSTATE BIRTHDAY| HIREDATE | DEPT SALARY]| ~|
4 |Emily |Smith F Texas|1985-03-07 2006-08-19 HR 7000 [=
5| Ashley | Smith F Texas|1975-05-132004-07-30 R&D | 16000
9 | Victoria| Davis F Texas|1983-12-0702009-12-00 HR 3000
11 |Jacob |Moaore M Texas|1974-12-16 2004-12-16 Sales| 12000
17 |Hannah Johnson |F Texas|1980-07-192006-07-19 Marke| 4000 | =

Enum group is to group the records according to various conditions. You can implement the
enum group with the enum() function.

— Group the records into 3 Member
. =deran cuery "select * from groups by monthly 149 ]
EhlEsliley salary. No duplicate 11236, ..]
a [F=2000,7=12000,7==12000] y'_ P . [5.10.11
record is allowed in : :
=81 enum{ 52 SALARY) -
group by default
—
Ipouble click to view records in group _|
EIDN MAME [SURMNAME/GEMDER STATE| BIRTHDAY ﬁF{EDﬂTE DEPT|SALARY] ~|
5 |Ashley | Smith F Texas [1975-05-13 2004-07-30 R&D | 16000 | =)
10 |Ryan |[Johnson |[M Penns]1976-03-12 2006-03-124 R&D | 13000
11 | Jacob |Moore M Texas |1974-12-16) 2004-12-16 Sales| 12000
20 |Alexis [Allen F Florida 1977-08-07| 2007-08-07) Admirn 16000
22 | Jacob [Davis I Texas | 1985-05-07) 2001-05-07 R&D | 16000 |

10 Modify Sequence and TSeq

The same syntax for array assignment in Java also applies to the sequence modification in
esProc, that is, you can just assign directly to the member at appointed position to implement it.

Member

After executing, the 1

Lot 12 sequence in A1 is > 4

2 [=AL4="NY" changed by statements 5
3 PME=AIE2 1 fin A2 and A3 MY
TX

Besides, similar to SQL statement, you can also use the insert, delete, modify, and other
functions to perform the insert, delete, modify, and other operations on the sequence.

12
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N Member
i [1.4.7.Ck Tx] |After executing, sequence in A1 is modified | - 4
2 [=ALlinsert(3,"newl">Insert new1 to the 3" position 7
3 =41 insert(D, "new2" > Insert new?2 to the end of sequence MY
4 |4l delete(l) —>Delete the 1¥ member T
5 | =&l madifitd,"NY")=>Modify the value of the 4™ member new2

Unlike the other Sequence, the member of record in TSeq cannot be assigned directly. For
example, if T is a TSeq, then the T(3)=r operation is wrong.

When modifying TSeq, you can only use insert( ), delete( ), modify( ), and other functions to
modify the TSeq, or directly modify the record of this field.

A |

Append new record at the end of employee

=derno.cuery "select * from .
1 EMPI_SYEIEEH':'} table. and assian value one bv one
=41 nsert(D, 2000, "Julia”, "Jones"," Insert the new record at the 2" position of

2 Flonida","F", date("1958-1-10"),dat

("2011-10-1",10000% employee table. Assign value to the

=41 insert(2 20,"I" GENDER," specified field directly, and assign to the
3 Brandon" MA&ME, "Williarns"," i .

Califormia” STATE, "test" unspecified field one by one
4 |7l deletel) —>Delete the 3" record

=81 deletel[4,20,7) th Hnth
- &1 odify (11, "Exly” Lee"" \Delete the three records of the 4™, 207,

& Califormia”, "F ", date "1 924-4-2"), and 7"
date("2011-10-1"),2000)
1 =41 modify(2,2000 SALARY) Modify the 1% record, and assign value

g | =A1(3) NAME="Helen" one by one
/ Modify the 2" record and assign
Modify name of the 3" employee value to specified field

As the expression in the A5 indicates that you can use ISeq to indicate the position when
deleting the records in the TSeq. Therefore, with the pickout function of pselect() in the TSeq, you
can delete the records according to the specified conditions.

ﬂ |
=derno.querst "select * from
I |EMPLOYEE"

=41 deletel ] pselect . .
2 (ST 3TE=Z:"C£;n$a%& —>Delete all employee records from California

Use reset() function to delete all records in the TSeq and only keep the data structure.

A |
=derno.querst "select * from
1 EMFPLOYEE") Delete all employee records, and
3 |=il resetl) — only keep the data structure

13
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11 Flow of Program in esProc

In esProc, you can use various judgment and loop statements just as in the normal program
language to implement the program design of choice structure and repetitive structure.

Unlike JAVA and other high level languages, esProc use the straightforward format of code
block to specify the working range of statement, instead of using the symbol like {} or reserved
words (BEGIN/END) to enclose the working range.

In the program cellset, a certain range of indented cells is called as Code Block, and the
starting cell is Master cell of the code block.

A B | ¢ | o | E |

If the green
areas are blanks,
hen these rows
is called code

block

=Code Begin

LT B R B S S

In esProc, the commonest statement of choice structure is the iflelse judgment. There are 3
common styles of judgment statement: use if separately, if...else..., and if...else if...else if......else.
In esProc, you can use these structures according to your practical needs.

The judgment statement can be used in an individual line.

4 | B | C | E1-falll_ua
1 23 123 ——> 123| |Assign C1 with the bigger one
2 fCl=A1 fBI1=C1 =C1=Bl4 — >{between A1 and B1
: i ?4 - | 24| |Assign C3 with the bigger one
4 (=) £3=B3 >C3=43 else =CG=B i between A3 and B3

The judgment statement can be composed in multiple lines, and put the statement in the code
block.

& E |
Value —\! UnitFrice Cmantity
F—_— i Mas.ter cell of - 6700 15
the if code " B0 2 .
block - he if code
4 T=pif BAHBI=A0 (= A2FBA+ASFRIH(1-0.15) block
The else code block's |5 =BE=round(Bd,2)
r—— The else
master cell ez =(LFBI+AETFEIY1-0.1)
I code block
T Output the total =BE=romd(Bé.2)
1124.89 ~<{amount of goods [F5**
purchased f

14
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1 [FEE
5 fif h1==20 Level Heavyweight for those over or equal 80kg
3 =8 10="Hearaeizht "
4 [|elseif Al==62 [Level Middleweight for those between 68kg~80kg ]
5 =8 10="TvTiddleweizht "
6 [lseif Al==32 |Level Lightweight for those between58kg~68kg |
7 = £ 10="Lizhtweight"
g [l |Level Flyweight for those below 58kg |
9 = 4, 10="Flyrweizht"
Value
el TLevel Lightweight according to standard in A1 || Lightweizht
& | s |

Y

2 )i A1==E0 Level Heavyweight for those over or equal 80kg

3 =B 10="Heavnaeight"

4 (= else if L1==63 Level Middleweight for those between 68kg~80kg

5 =B10="Iiddleweizht"

6 (o) elee i A1==38 Level Lightweight for those between58kg~68kg

7 >B10="Lightweight"

g (o)felse Level Flyweight for those below 58kg

E10="Flyweight|
? - yoreigh Level Lightweight according
Weight Class . Value
[t | to standard in A1 Lightweight

The most common loop statements in esProc is the for loop. If conditions in the for statement
is met, then the statement in the code block will be executed repeatedly. The for loop statement
can be used to implement the functionality of while statement and for statement of the normal

program lang

uage.

If using the for statement individually, then it equals to for true. The code in the code block
will be cycled non-conditionally. If using the break statements, then you can break out of the for
loop, and stop the code block.
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B | 1 | Value
- The final result of A1 is 5050 > 5050
2 (=|for  ~=dInfinite looping which stops until the program quit by itself
3 Fhl=hlHA2 Quit the loop when the loop
4 = f#a2==100 break counter reaches 100
The for n statement can be used to specify the loops.
B |The final result Value
0 of A1 is 5050 5050
2} for 100 ﬁConfirm to cycle over 100 times
3 ET=ETHL]
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The for A statement enables you to cycle every member in the sequence A:

by B C D
=derno quety
1 (“zelect * from
EMPLOYEE")
2 (=) for &1 if 52 GENDER=="F" =Ad=54+1
i=) ifBd=s2 SATARY =Bd=A2 SATARY
) }

ssign the value in C2 Assign the value in D3, and
and compute the total | Jcompute the highest salary
emale employees of female employees
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